
Tremblant Ext Dining Table 

Table a rallonge Tremblant 
Assembly Instructions/ Instructions d'assemblage 

URBAN 
BARN 

Parts Packing Configurations / Pièces 

Box #1 / Boite 1 
x1 A. Table Top / Dessus de table

B. Table Leg / Patte

Hardware Packed in Box # 1 / Quincaillerie incluse dans la boite 1 

No Description Image 

ALLEN BOLT (5/16"x2-1/2") � BOULON ALLEN (5/16"xl-3/4") 

2 SPRING WASHER (5/16") 
@) RO ND ELLE D'ARRET ( 5/16") 

3 FLATWASHER(5/16") 
@ RONDELLE PLATE ( 5/16") 

4 ALLEN KEY 

=, CLE ALLEN 

Step 1: 
Etape 1 : 

Quantity 

Quantite 

x8 

x8 

x8 

xl 

Dining Table Fully Assembled 

Table a rallonge assemblee 

Step 2: 
Etape 2 :

B 

Tool required: Phillips-head screwdriver (not provided) 
Outil requis : toumevis a tete etoilee (non foumi) � 

K 1/2 



Tremblant Ext Dining Table 

Table a rallonge Tremblant 
Assembly Instructions/ Instructions d'assemblage 

Step 3: 

Etape 3 :
open 

Leaf A ran can be o en or closed

Les abattants peuvent être ouverts ou fermés.  

ouvert  7 

Step 4: 

Etape 4 :

closed 

ferme 

closed 

ferme 

open 

ouvert

URBAN 
BARN 

K 2/2 




